3 ] <<Cwjywpih>> UNC 43700 ] 0 43700 |
Quihwpwdhu N 8 |
I <<LUb4Y>> Ume 3500 [ 0 3500 _
2 | <<Uwduwuss UNQ 6300 0 6300
3 <<Qwjywpih>> UME 14000 0 14000
Quthwpwdhu N 9
1] <<LUb4Y>> UMp 2200 0 2200
2 { <<Uwdbwu>> UMQ 3000 0 3000
B <<Cwjuph>> UME 3500 0 ] 300
thhwpmdhh N10
1 <<LUtY>> UMp 121000 0 121000
2 <<Cuyljupih>> UMp 158400 0 158400 |
3 <<Uwduwls> Umpe 198000 0 198000
Quithwpwdht N 11
1 <<LUbY>> UMQ 73500 0 73500
2 <<Qwjuph>> UMC 84000 0 84000
3 <<Uwdbwu>> UMP 140000 0 140000
QuihwpwdhuN12 o .
1 <<LUbJ>> UM 438750 0 | 438750
<<Cwjljupih>> UNC 461500 0 461500 |
<<Uwduwt>> Unp 780000 0 780000
2uwthwpwdhu N 13
e <<LUtY>> UMQ 1050 0 1050
2 <<Uwduwti>> UMP 1500 0 1500
3 <<Cwjlyupih>> UNC 2000 0 2000 |
PG~
| <<Cwyywpp>> UMP 18400 0 18400
2 <<LUGY>> Unp 20000 0 20000
3 <<Uwdlwt>> Unp 40000 0 40000
Quithwpwdhu N 15
1 <<LUGY>> UMp 9000 0 9000 |
2 <<Cwyjlyuiph>> UNC 16500 0 16500
3 <<Uwfuwbli>> Unp 18000 0 18000
2uihwpwdhu N 16
h | <<LULY>> UMP 27608 0 27608
2 <<Qwjywph>> Une 33698 0 33698
3 <<Uwduw>> UMQ 381640 0 381640
Quwihwpwdh N 17 J
1 <<LUb4>> Unp 448800 0 448800 |
2 <<Cuylupih>> UMC 462000 0 462000 ﬂ
3 <<Uwduwt>> UNQ 528000 0 528000
Quihwpwdhu N 18 B ]
i <<LUtY>> UMQ 178190 0 178190 ]
2 <<Cwjljwpip>> UM 187460 0 187460 |
3 <<Uwduwu>> UMQ 206000 0 206000
Quwthwpwdhu N 19
i <<LUbUY>> UMD 264690 0 264690
2 <<Cwjlupih>> UNQC 269280 0 269280
3 | <<Uwfuwt>> UMp 306000 0 306000
Quithwpwdh N 20
1 <<Uwdlwl>> UNE 8000 0 8000
2 <<LUb4Y>> UMQ 8500 0 8500
3 ] <<Cwjlyupih>> UNC 11000 0 11000
Qw u.rpl.ud’['_lh N 21 |
. <<Uwduwl>> UNQ 6400 0 6400 |
<<LUbY>> UMp 7200 | 0 7200 |
<<<wjl4wmj1>> umpe 12000 0 12000 |
' Quihwpwdhu N 22 ]
<<Uwuwt>> UMQ 450 0 450 ]




